Math 150A Midterm 3
(Dated: vae‘mber 21, 2016)
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" Write clearly and box all your anSWers. Simplify all formulas to the very end. No calculators
allowed. Do not work out of memory, rather think before starting your calculations. Use the back

for more space. Show all steps you are performing:







1) A 3D box will be built where the sum of the length, heig}it. and’ width must be 108 inches. What

are the dimensions and the volume of a square based box with the greatest volume under this

constraint? } “
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3) Find the area of the region bounded by y = 2z and y=2z2—4
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4) Evaluate /4 :c(:z: —2)(z - 4)dz -
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7) Find the antideri\-/ative‘F of f(z) = 2% — 2572 + 1 such that F(1) = 0
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8) What two-nonnegative real numbers with a sum of 23 have the largest possible product?
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10) Find the arca between y =z and y = ¢* — 2
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12) Find the area!c.)f the region above the z axis and bounded by f(z) =4 —z2.
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